
Problem 4. Farm 
 

Ivancho is at his village and he is really bored. He is so bored that he even decided to do                                       
something productive. Few days ago, Ivancho noticed that the dogs in the garden torment the                             
chickens and because of this they lay less eggs than usual. His plan is to reduce the tormenting                                   
and therefore to increase the amount of eggs laid by separating the dogs from the chickens with                                 
the help of two parallel levers. Between the two levers there should be only chickens and the                                 
levers must be parallel. Otherwise, the lack of symmetry will depress the chickens and they will                               
lay even less eggs. Of course, Ivancho must be careful not to kill an animal by putting a lever                                     
over it. After few hours of hard work Ivancho realized that it may be impossible to save all the                                     
chickens this way. Help Ivancho by calculating the maximum number of chickens that can be                             
saved using his plan. It is possible that all the chickens can be saved. 

In order to make your life easier, Ivancho will give you information about his grandfather’s                             
garden, which you can imagine as an infinite coordinate system, and the dogs and chickens can                               
be represented as static points on it. 

Input: On the first line of the input file farm.in there will be two numbers N and М ­ the                                       
number of chickens and the number of dogs. N lines follow with 2 integers on each ­ the                                   
coordinates of each chicken. After that there are M lines ­ the coordinates of every dog. 

 
Output: The output file farm.out consists of one integers ­ the maximum number of                           

chickens that can be protected between two levers. 
 
Constraints: 
0  N, M  1,000≤ ≤  

he coordinates of every point− 01 9 ≤ t ≤ 109  
No three points lie on the same line. 
Every number in the input file is an integer. 

 
TIME LIMIT – 1 sec 
Example: 
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